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5. Calculate both the x- and y- intercepts for 2x + 3y = 6 and show how this can be done
using algebra for full credit (other methods partial credit)
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3 Without using any type of a calculator, make a quick sketch of
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Jackie and Alexa were working on (x+4)? —2x—-5=(x—1)
homework together when Jackie said, ) N
“I'got x=5 as the solution, but it looks ~ X" +16=2x~=5=x"+1

like you got something different. Which 16-2x-5=1
solution is right?” 11=2x=1
“I think you made a mistake,” said Alexa. “2x=-10
Did Jackie make a mistake? Help Jackie x=5

figure out whether she made a mistake and,
if she did, explain her mistake and s her how to solve the
ie's i above ri

uation corr

x=-1.25.]

Jackie squared the binomials incortectly.
It should be: x* +8x+16—2x—5=x*-2x+1, 6x+11=-2x+1, 8x=~10,and
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In this question you will expand your skills. Think of it as a puzzle
in which you are using clues to create an exponential equation.

1y N0

(3, 640)

(1, 40) \\
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I Tickets for a concert have been in incredibly high demand, and as the
® date for the concert draws closer, the price of tickets increases
exponentially.

The cost of a pair of concert tickets was $150 yesterday, and today it is
$162.

As you complete parts (a) through (c) below, assume that each day’s
percent increase from the day before is the same.

1.  What is the daily percent rate of 1ncrease‘7 What is the multiplier?

\Lo'L 0% - [O% \00 x4 % ® incvease

2. Write a function that represents the price of tickets after ¢ days ?

3. What was the cost of a pair of tickets two weeks ago?

CI)
so(1s0%)
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